
              Inverse trigonometric functions &   
General Solution of Trigonometric Equations. 
------------------ ----------------------------- -----------------  
 

1.  Sin (૚
૛
૚ିܖܑܛ  ૡ

૚ૠ
 ) = 

a) √૚ૠ           b)     ૚
√૚ૠ 

          c)  ૚૞
૚ૠ 

          d)     ૡ
૚ૠ 

   
  
 

2.   The value of  Tan ( ૈ 
૝
૚ିܖ܉ܜ  -    ૚

ૡ
 )  =   

a)      ଻
଼
      b)   ଻

ଽ
       c)   ଻

ଵ଴
              d)   ଽ

଻
  

 
3.  The domain of the function  

       f(x) = ିܖܑܛ૚ ቂࢍ࢕࢒૛ ቀܠ૛

૛
ቁቃ      is  

a)    1 ൑ x ൑ 2     b)  -1 ൑ x ൑ 2      c) 2 ൑ x ൑ 4   d) 1 ൑ x ൑ 5   
 

4. If cos ( 3ିܛܗ܋૚ ࢞  ) =  tan (ିܖ܉ܜ૚   = then x (  ܠ
 

a) 0            b) 1         c) -1              d)    0,1, -1 
 

5.   If  ିܖܑܛ૚ ሺહ  - β  )  = √૚࢙࢕ࢉ હ + β and  =   ࢇ െ  ૛܊
              then    ܖܑܛ૛ હ + ܛܗ܋૛ ઺  =    

a) 1 + a     b)  a + b      c)    1 + ab    d)  1+  b 
 

6.   If ିܖܑܛ૚ ૚ሺ ૚ିܛܗ܋ +  ࢞ െ ࢞ሻ ൌ   ିܖܑܛ૚ሺ െ࢞ ሻ  then x satisfies   
a)  2xଶ  + 3x + 1 =0              b) 2xଶ   -  3x = 0  
    c)  2xଶ   +  x  -  1 =0         d)    2xଶ   +  x   + 1 =0        
 
 

7.  If  sec-1x =  cosec-1 y  then sin-1( ૚
ܠ
 ) + sin-1( ૚

ܡ
 ) = 

a)   Π         b)  π / 2          c)      - π /2         d)  - π  
 

8.  If  tan ax – tan bx = 0  ( a ≠ b) then the values of x form a 
series in   
 

a) AP   b) G P   c) H P   d)  AGP. 
 

9. If ିܖܑܛ૚( ૚
૜
૚( ૛ିܖܑܛ +  ( 

૜
  = then x   ( ܠ )૚ିܖܑܛ = ( 

a) 0           b)    ሺ  √૞  ି ૝ √ଶ ሻ
ૢ

           c)  ሺ  √૞  ା  ૝ √ଶ ሻ
ૢ

      d) π / 2  . 
 

10. The value of  ିܖ܉ܜ૚5 + ିܖ܉ܜ૚૜  - ିܜܗ܋૚ ૝
ૠ
    = 



a)   ஠
ସ
          b)   ஠

ଷ
                    c)     ஠

ଶ
          d) ஠

଺
. 

 
 

11.  Two angles of a triangle  are  ିܜܗ܋૚૛  and ିܜܗ܋૚૜  , then the 
third angle is  
a)    ૈ

૝
          b)   ૜ૈ

૝
                    c)     ૈ         d)   െ ૈ

૛
  . 

 
ܛܗ܋ ૚ሺିܖܑܛ ܎ܗ ܍ܝܔ܉ܞ ܍ܐ܂ .12 ቀ ିܖܑܛ૚ሺܠሻቁ ൅ ሻሻܠ૚ሺିܛܗ܋ ሺܖܑܛ ૚ሺିܛܗ܋       ൌ  

a) ૙              ܊ሻ ૈ
૝

ૈ   ሻ܋                    
૛

  ૈ  ሻ܌                    
 

13. If ିܛܗ܋૚ ૚ିܖܑܛ - ܠ ૚ሺ ૚ିܖܑܛ = ܠ െ    ሻ   then the values of x areܠ
a)    0  or  ½       b)     1 or  1/3         c)  -1  or  -1/3    d)  -1 ,1/2  

 
14. If ିܛܗ܋૚ ૚ିܖܑܛ + ܠ ܠ

૛
     = ૈ

૟
  then x = 

a)   ±  √3         b) 1         c)    ଵ
√ଶ

          d) 0 
 

15. The value of   ିܜܗ܋૚ ૛૚ + ିܜܗ܋૚ ૚૜  + ିܜܗ܋૚ሺ െૡሻ  = 
a)    0       b)  cotିଵ 26        c)   cotିଵ 1    d) cotିଵ 1         

 
16. If  ିܖܑܛ૚ ቀܠ െ ૛ܠ 

૛
൅ ૝ܠ

૝
െ  … ቁ ૚ିܛܗ܋ +  ቀܠ૛ െ ૝ܠ 

૛
൅ ૟ܠ

૝
െ ڮ . ቁ   =  ૈ

૛
  

for  0<  |ܠ| < √૛                 then     x =  
a)   1          b)  ଵ

ଶ
         3)   0          d)  െ ଵ

ଶ
 

  
17. The value of      2ିܖ܉ܜ૚ሾ܋܍ܛܗ܋ ሺ ିܖ܉ܜ૚ ሻ ܠ െ ૚ିܜܗ܋ ሺ ܖ܉ܜ  = ሻሿ ܠ
a) ିܜܗ܋૚ሺ ૚ିܖ܉ܜ   (ሻ   b ܠ ૚ିܖܑܛ (c   ܠ ૚ିܛܗ܋   (d    ܠ  ܠ

 
18.  If   2 ିܖܑܛ૚ ૚ିܖܑܛ = ܠ ૛ܠ√૚ െ   ૛ , then  x is inܠ
a)   [-1, 1 ]     b) [- ଵ

ଶ 
 , 1]         c)  [- ଵ

√ଶ 
 , ଵ

√ଶ 
]     d) [ 0, 1] . 

 
19. The solution set of the equation ିܖܑܛ૚ ૚ିܖ܉ܜ 2 =  ܠ  is   ܠ
a)  { 1, 2}        b)  { -1, 2}     c)  {-1, 1, 0}     d) {1, ½ , 0} 
  
20. If in a triangle  ABC ,  C is 900,  then  ିܖ܉ܜ૚ ܉

܋ା܊
૚ିܖ܉ܜ   +  ܊

܉ା܋
  = 

a) ஠
ଶ
              b)  ஠

ଷ
             c) ஠

ସ
           d)    ஠

଺
    

  
 
 
 
 



21. The value of tan[ିܖ܉ܜ૚ሺ ૚
܊ା܉

૚ሺିܖ܉ܜ   +  (  ܊
ା૚܊܉૛ା܉

 )] =  
a)  a       b)   ଵ

ୟ
     c)    b      d)   ଵ

ୠ
    

         
 

22. If ܉૚, ܉૛,  ܉૜ ....an is an AP with  common difference d , then  
tan {  ିܖ܉ܜ૚ ቀ ܌

૚ା܉૚܉૛
ቁ + ିܖ܉ܜ૚ ቀ ܌

૚ା܉૛܉૜
ቁ   +.......+  ିܖ܉ܜ૚ ቀ ܌

૚ାܖ܉ష૚ܖ܉
ቁ }  = 

a)  ሺ ୬ାଵሻୢ
 ଵା ୟభ ୟ౤

              b) ሺ ୬ିଵሻୢ
 ଵା ୟభ ୟ౤

    c)   ୬ୢ
 ଵା ୟభ ୟ౤

             d) ሺ ୬ାଵሻୢ
ୟభା ୟ౤

            

 
23. If   ሺିܖ܉ܜ૚ ૚ିܜܗ܋ሻ૛ + ሺܠ ሻ૛  = ૞ૈ૛ܠ

ૡ
  then x = 

a) 0             b)   1            c)   √2 -1              d)   െ1 
 

24. If   ିܖܑܛ૚ ૚ିܖܑܛ   +  ܠ ૚ିܖܑܛ  +ܡ   then , ૈ = ܢ
∑ X √1 െ  xଶ   =  
aሻ x ൅ y ൅ z                          b)  2xyz     
 c)  2( x+ y + z)                   d) xଶyଶzଶ 
 

25. If tan( x + y ) = 33 and x = ିܖ܉ܜ૚ ૜ then y = 
a) ஠

ସ
          b) tanିଵ 30           c)  tanିଵ ଷଷ

ଵ଴
            d)     tanିଵ ଷ

ଵ଴
   

 
 

૚ିܖܑܛ 2   .26 ට૚ିܠ
૛

   with │x│൑ ૚   = 

a)  ஠
ଶ

൅  sinିଵ 2x         b)  cosିଵ 2x    c)   cosିଵ x          d)  tanିଵሺ 1 െ x ሻ   
 

27. The  general solution of   sin5x =  k      where k is a real root of                 
  ૛ +2x  - 1 = 0  is given  byܠ - ૜ܠ2

a)  x =  ૈܖ
ହ

 +  ሺ െ1ሻ୬  ஠
ଷ଴

       ሺ bሻ   x =  ૈܖ
ହ

 +  ሺ െ1ሻ୬  ஠
ଵହ

   

(c)  x =  ૈܖ
ହ

 +  ሺ െ1ሻ୬  ஠
ଶ଴

        (d)   x =  n π  +  ሺ െ1ሻ୬  ஠
଺
  

28. If  5cos 2 θ  + 2 ܛܗ܋૛ ી
૛
 + 1 = 0  , θε (- π , π ) ,then θ =  

a) ஠
ଷ
    ( b)    ஠

ଷ
  , cosିଵ ଷ

ହ
         c)   cosିଵ ଷ

ହ
         (d) ஠

ଷ
  , π - cosିଵ ଷ

ହ
        

 
29.  If    The general solution of   ૚ି  ܛ ܗ܋  ૛ી 

૚ା   ܛ ܗ܋  ૛ી
 = 3   is given by θ = 

a)   2n π ± ஠
଺
     (b)    n π ± ஠

଺
     

(c).  2n π ± ஠
ଷ
     (b)    n π ± ஠

ଷ
      

30. If  Sec x cos5x + 1 =0 where 0<x < 2 π  , then x is equal to : 



a)  ஠
ହ
 , ஠

ସ
                        b) ஠

ହ
     

   c)  ஠
ସ
                           d) none of these 

31. The solution of the equation ܖܑܛ૚૙2x  = 1+ ܛܗ܋૚૙x   is 
a)  x =   (  2n  + 1 )ૈ

ଶ
   , n Є Z     (b) x = n π  , n Є Z      

 .(C)  x= (  2n  + 1 )ૈ
ସ
   , n Є Z     (d)   no solution. 

 
32.  The most general value of  θ satisfying  the equation                      

ሺ ૚ ൅  ૛ ܖܑܛ ી ሻ૛ +   ሺ√૜  tan θ  - 1) 2  = 0 are given by  
a)   n π  ± ஠

଺
                     b)  n π  + ( -1) n  ଻஠

଺
    

 c).     2n π  + ଻஠
଺

             (d) 2n π  + ଵଵ஠
଺

       
33. The most general solution of θ  satisfying  

  Tan θ + tan( ૜ૈ
૝

 + θ )  =  2     is / are 

a)  n π  ±   ஠
ଷ
  , n Є Z  .    b)    2n π  +  ஠

ଷ
  , n Є Z   

.c) 2n π  ± ஠
ଷ
  , n Є Z     d) )    2n π  +( -1) n  ஠

ଷ
  , n Є Z   

 
34.   The general solution of  x for which cos2x , ૚

૛
 , and sin 2x are 

in Ap , are given by  
a) n π  , n π + ஠

ଶ
    b) n π  , n π + ஠

ସ
          c) n π + ஠

ସ
  ,   ଷ୬஠

ସ
     d) none 

of these. 
 

35. If √૛ sec θ + tan θ =1 then the general solution of θ= 
a) n π + ଷ஠

ସ
         b)   2n π + ஠

ସ
      c)   2n π  -  ஠

ସ
     d) 2n π ± ஠

ସ
        

 
36.  The equation sin૜ܠ

૛
 cos૜ܠ

૛
 + 1 =0    has  

a) one solution            b) two solutions   
c)   infinite solutions    d)     no solution. 
 

37.   The general solution of ܍
ష૚
√૛  ( ܠܛܗ܋܍ + ܠܖܑܛ܍)  = 2 is  

a) x = n π    b)  x = ( 4n + 1) ஠
ସ
    

 c)  x = ( 4n + 1) ஠
ଶ
       d)   n π  +  ஠

଺
 . 

 
38.   If   – π ൑ x  ൑Π  ,– π ൑ y  ൑Π   and                               
  cos x + cosy  =  2 then general solution is x   = 



a)          2 n π + y              b)    2 n π  - y     
  c)     n π  + y                   d) n π + ( -1) n  y. 
 
39.  The equation 3 ܖܑܛ૛x   +  10cosx – 6 =0  is satisfied if  
a) x = n π ± cosିଵ ଵ

ଷ
      b) x = 2n π ± cosିଵ ଵ

ଷ
   

c) x = n π ± cosିଵ ଵ
଺
      b) x = 2n π ± cosିଵ ଵ

଺
  

 
40.   If tan2x = tan    ૛

ܠ
  , then the value of x =  

a) ୬ૈ േ√୬మૈమା ଵ଺
ସ

                                 b) ୬ૈ
ସ

      

c) ୬ૈ േ√୬మૈమି  ଵ଺
ସ

                              d) None of these 
 
41.  If the equation cos3xܛܗ܋૜x + sin3x ܖܑܛ૜x= 0., then x =  
a) ( 2n+1) ஠

ସ
      b)  ( 2n - 1) ஠

ସ
       c) ୬஠

ସ
     d) n π , ୬஠

ଶ
 . 

 
42.  If x ≠  ૈܖ

૛
  and    ܖܑܛܠܛܗ܋૛ܠ – ૜ ܠܖܑܛ  ା ૛       = 1 , then all solutions 

of x are given by  
a) 2n π  + ஠

ଶ
                          b) ( 2n + 1) π    - ஠

ଶ
    

c)    2n π  + ሺെ1ሻ୬ ஠
ଶ
          d) None of these.          

 

43.  If 1 + sin x + ܖܑܛ૛x +  ܖܑܛ૜x  +..........∞  = 4 + 2√૜ with 0<x < 

π and x ≠  ૈ
૛
   , then x =  

a) ஠
଺
            b) ஠

ଷ
          c)    ஠

ଷ
   or ஠

଺
          d) ஠

ଷ
     or ଶ஠

ଷ
    

 
44.   The general solution of of       ܖ܉ܜ૛ܠ    = cos2x – 1 is  
a) 2n π  b)  ୬஠

ଶ
            c)  n π         d) (2n + 1) π  

 
45.  Cot θ =sin2 θ ( θ ≠ n π ),if θ = 
 a)  ஠

ସ
 , ஠

ଷ
          b) ஠

ସ
 , ஠

ଶ
                 c) ஠

ସ
 only             d) ஠

ଶ
 only 

 
 
46. If sin(ૈ

૝
 cotθ ) =cos(ૈ

૝
 tanθ) then the value of  θ = 

a)n π  +  ஠
ସ
      b ) 2n π  ±  ஠

ସ
        c) n π  -   ஠

ସ
         d)  2n π  ±  ஠

଺
  



47.   If      tan θ  + 3 cot θ  = 5 sec θ  then θ =  
a) n π + ( -1)n  ஠

ସ
   , nЄ Z .   b) n π + ( -1)n  ஠

଺
   , nЄ Z  

c) n π + ( -1)n+ 1  ஠
଺
   , nЄ Z  or n π + ( -1)n  ஠

ଷ
   , nЄ Z 

 d) n π + ( -1)n  ஠
ଶ
   , nЄ Z  or n π + ( -1)n  ஠

଺
   , nЄ Z 

 
48. If tanx + tan4x + tan7x   = tanx tan4x tan7x then x =  
a) n π / 3       b)  n π / 4        c) n π / 6      d)  n π / 12 

 
49.  The general solution of  sinx + sin7x  = sin4x in  ( 0, ૈ

૛
 )  are 

    a) ஠
ସ
 , ஠

ଵ଴
           b) ஠

ସ
 , ஠

ଷ
         c)  ஠

ସ
 , ஠

ଶ
           d)  ஠

ସ
 , ஠

ଽ
  

 
50. The number of solutions of cosx = |૚ ൅   0൑x൑ 3 π is , | ࢞࢔࢏࢙

a) 3               b)  2          c)  4        d)    5  
 

51. The set of values of x  for which ܖ܉ܜ૜ܖ܉ܜ – ܠ૛ܠ 
૚ାܖ܉ܜ૜ܖ܉ܜ ܠ૛ܠ

  = 1 is 

a) φ       b) { n π  + ஠
ସ
 , n Є Z }        c)  ஠

ସ
      d)  { 2n π  + ஠

ସ
 , n Є Z }   

 
52. The general solution of cos7 θ  cos 5 θ  = cos3θ  cosθ      is 
a)   ૈܖ

ૡ
ૈܖ ,   

૚૛
   b) ૈܖ

૞
ૈܖ ,   

૜
      c) ૈܖ

ૡ
ૈܖ ,   

૝
     d ) ૈܖ

૞
ૈܖ ,   

૟
 

 
53. If sec2x +   + cosec2x  = 4 , then the value of x is   

a)  ஠
ଷ
               b) ஠

଺
               c)   ஠

ଶ
             d)     ஠

ସ
  

 
54. The equation 2 sin θ cos θ  = x 2  + ૚

 ૛        hasܠ
a) one real solution           b)  no solution  
 c) two real solutions       d) θ = n π . 
 
55.    If A and  B are  acute angles such that sinA = sin2B  and  
    2 cos2A  = 3 cos2B then A is  

a)   ૈ
૟
             b) ૈ

૚૛
             c)   ૈ

૜
          d)     ૈ

૝
  

 

56.  Let n be a positive integer such that sin ૈ
૛ܖ

 + cos ૈ
૛ܖ

ܖ√  =  
૛

   
,then    
a) n = 4    b)   n= 1,2,3,4,.......      c)   n = 2        d)  n = 6 



57. If sin 400 = k and cosx = 1 – 2ܓ૛  then the value of x in ( 00, 
3600 )     are 
a)  40o   and 140o           b) 80o   and 280o     
c)  40o   and 220o           d)  80o   and 260o    
 
58.   If   3 cos2x  - 2√૜ cos x sinx  - 3 sin2x = 0 then  x  =  
a)  ୬ૈ

ଶ
 +   ஠

଺
       b) ୬ૈ

ଶ
 +   ஠

ଵଶ
           c)   ୬ૈ

ଶ
       d)     n π +  ஠

ଷ
  

 
59.  The most general solution of ܠܛܗ܋܏ܗܔሺܠܖ܉ܜሻ + ܠܖܑܛ܏ܗܔሺܠܜܗ܋ሻ 
=0 
a) 2n π + ஠

ସ
 , n ЄZ  ,    b) n π + ஠

ସ
 , n ЄZ    

c)  2n π  - ଷ஠
ସ

 , n ЄZ      d)   n π  -  ଷ஠
ସ

 , n ЄZ    
60. The general solution of 3 tan( θ – 15 o)= tan ( θ + 15 o )   is 
a)  θ = ୬ ૈ

ଶ
  ± ஠

ସ
       b)   n ૈ ±  ஠

ସ
            c) ୬ ૈ

ଶ
  + ( -1) n  ஠

ସ
         d) 2n ૈ  -   

஠
ସ
 

61.  The most general solution of  √૜ tan θ  +1 = 0  & √૜secθ  -
2 =0     is   
a)  2n π   -  ஠

଺
                     b)  2n π   +  ଵଵ஠

଺
         

c) n π  + ( -1)n ଵଵ஠
଺

             d)  2n π   +  ଻஠
଺

      
 
62. If cosx + cosy = 1 and cosxcosy = ¼  then the general 
solutions are  
a) x = 2n π ±  ஠

ସ
   , y = 2k π ±  ஠

ସ
          b) 2n π ±  ஠

ଷ
   , y = 2k π ±  ஠

ଷ
   

 c) x = 2n π ±  ஠
଺
   , y = 2k π ±  ஠

଺
          b) n π ±  ஠

ଷ
   , y = k π ±  ஠

ଷ
     

૚ିܖ܉ܜ  .63 ቀ૚ାܠܖܑܛ
ܠܛܗ܋

ቁ =  

aሻ ஠
ସ

െ    ୶
ଶ
          b)   ஠

ଶ
 -  ୶

ଶ
          c)   ஠

ସ
൅    ୶

ଶ
          d)  ୶

ଶ
           

 
64 .  Tan[ ૈ

૝
  + ૚

૛
 cos-1( ܠ ) ] + Tan[ ૈ

૝
   -  ૚

૛
 cos-1( ܠ ) ]   with x ≠ 0 

a)   2x  b) ଶ
୶
      c)     2x      d)     2 √1 ൅ xଶ 

65.  If sin-1( ܠ
૞
૚ሺି܋܍ܛܗ܋ + (  ૞

૝
 )   = ૈ

૛
   , then x =  

a) 4  b)   5  c ) 1  d)       3 
66. The value of cos( 2ିܛܗ܋૚ ૚ିܖܑܛ +  ܠ  at x = 1/5   is ( ܠ

a) √଺
ହ

           b)    ିଶ√଺
ହ

             c) ଶ
ହ
             d)  2√6   



 
67. The general solution of cosecx  + cotx = √૜   is 
a) x = 2n π ± ଶૈ

ଷ
            b) x = ୬ૈ

ଶ
  +ଶૈ

ଷ
  - ૈ

ଷ
 

c)  x =  ୬ૈ
ଶ

    -   ଶૈ
ଷ

         d)  x = 2n π ± ଶૈ
ଷ

   -  ૈ
ଷ
   

 
68. If  α, β  and  γ   are the roots of the equation  x3 + m x2   + 
3x + m = 0      , then the general solution of   ିܖ܉ܜ૚ હ     
૚ିܖ܉ܜ  +  ઺  +ିܖ܉ܜ૚ ઻ =   
a)   ( 2n + 1) ૈ

ଶ
     b)  n π      c)  ૈܖ

ଶ
       d)   depend upon the value of 

x . 
 
69.   The equation  3 cosx + 4 sinx  = 6 has  
a) finite solution     b)  infinite solution   
 c)  one solution               d) no solution . 
 
70.    The value of x satisfying the equation   sinx + ૚

ܠܖܑܛ 
  = ૠ

૛√૜
   

is given by   
a) 100         b)  300         c)  450       d)   600      
 
71.  If log 5(1 + sinx) + log 5(1  -  sinx)   =  0 then x in ( 0, ૈ )  is 
a)   ஠

ଶ
           b)  0      c)   ૈ       dሻ   No value  

 
72.  If y = cosx    and    y = sin 5x then  x =  
a)    ஠

ସ
       b) ஠

଺
           c)     ஠

ଵଶ
      d)    ஠

ଶ
 

 
73.   The value of ିܛܗ܋૚  ሺܛܗ܋ ሺ૞ૈ

૜
૚ିܖܑܛ + ( (    ሺܖܑܛሺ૞ૈ

૜
  ) )  = 

a)  ஠
ଶ
           b) ହ஠

ଷ
         c)  ଵ଴஠

ଷ
            d)  0 

 
74.  If θ = ିܖܑܛ૚  ሺ െ ૟૙૙૙ ))  , then one of the possible value ܖܑܛ
of θ   is  
a)   ஠

ଷ
                 b) ஠

ଶ
               c) ଶ஠

ଷ
        d) െ ଶ஠

ଷ
 

 
75.  The value of sin( 2 ିܖܑܛ૚ ૙. ૡሻሻ  = 
a)  0.96 b)  0.86  c)  0.94           d)  0. 84. 
 
 


